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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
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Following reading were observed in traversing with a compass in a place
where local attraction was suspected

Line F.B. B.B.
AB 108°45° 289°30°
BC 1°0° 181°0°
CD 303" 15 124°30°
DA 226°30° 44°30°

At which station do you suspect local attraction? Find the corrected
bearing of the line. Find included angle of traverse.
Differentiate between prismatic compass and surveyor compass

Define surveying, write the principal of surveying and explain any one

with neat sketch

Draw neat sketch of conventional signs for the following

1. Wire fencing 3. Gate

2. Telephone pole 4. Survey station

Construct scale having R. F. = 1/2500 and show 226m distance on scale
OR

Draw a fig of standard metric chain along with handle , lanes and tally

The length of line measured with a 20m chain was found to be 1000m.
calculate the true length of line if the chain was found to be 15c¢m long at
the beginning of the work, and Scm short at the end of the work.
Discuss the point to be consider in selection of survey station in chain
surveying
Write short note on the following
1. location sketch 2. Closing error

OR
A plan represents an area of 14143 sq mt and measures 8.5cm X 6.5cm,
find out R. F. of the scale.
Define the following terms
1. True meridian 2. Whole circle bearing

What are the uses of contour maps.

State the advantages and disadvantages of plan table survey
State the advantages and disadvantages of plan table survey

Time: 02:30 pm — 05:00 pm
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Calculate the are of fig from the following readings by a planimeter
with anchor point out side the fig.
IR =7.875 M =10 sq mt
FR =3.086
The zero mark on the dial passed the fixed index mark twice in clockwise
direction
OR

Explain the term Orientation. Explain orientation by back sighting method
Describe various method used for plane table survey
The following perpendicular offset were taken from a chain line to a hedge
Calculate the area between the survey line the hedge and the end offset
by Simpson’s rule.

Chainage(m) 0 6 12 18 24 30

Offset (m) 6.8 73 7.8 86 3.8 5.6

The following consecutive readings were taken with a dumpy level

And 4m level in staff on a continuously slopping ground at 30m intervals
0.585 0.936 1.953 2.846 3.644 3.938 0.962 1.035 1.689

2.534 3.844 0.956 1.579 and 3.016

The RL of the first point is 520.450 m . Calculate the RL of all points

By rise and fall method. Apply usual checks, calculate the slope of

the line joining the first and last point.

Define the following terms

1. Bench marks 2. Change point
3. Back sight 4. Level line
OR

The following consecutive readings were taken with dumpy level
3.860 3.340 2.935 1.860 0.625 3.700 2.630 1.545
1.920 0.860 0.660
The level was shifted after 5™ and 8" reading. The fist reading was taken
on bench mark of RL 50.00m.
1. Calculate the reduced level of all points
2. What is the difference in level between first and last point
3. Apply Arithmetic checks
What is contour ? Explain the characteristic of contour.
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